



St. Louis County, Minnesota

Date of Report: 12/15/2025 2:27:33 PM

<u> </u>	I D - 1 - "I -
Genera	I Details

Parcel ID: 235-0030-05180

Legal Description Details

Plat Name: BALKAN

Section Township Range Lot Block

33 59 20 - -

Description:

NE1/4 of NE1/4, EXCEPT the North 500 feet of East 830 feet; AND EXCEPT that part described as follows:

Beginning at a point marked by an iron pin, being the point of intersection of the North and South line and East and West line separating the forties in the NE1/4 of Section 33, Township 59, Range 20; thence North along the North

and South line separating the forties in said NE1/4, a distance of approximately 750.65 feet to a point on said line marked by an iron pin; thence Southeasterly at an angle of 75deg49' for a distance of approximately 275 feet to a point marked by an iron pin; thence Southerly at an angle of 104deg11' from said line for a distance of approximately 678.70 feet to a point marked by an iron pipe; thence West at an angle of 91deg01' for a distance of approximately

266.90 feet to the Place of Beginning.

Taxpayer Details

Taxpayer NameJANCE SCOTT Rand Address:6086 HWY 73

CHISHOLM MN 55719-8016

Owner Details

Owner Name JANCE SCOTT R

Payable 2025 Tax Summary

2025 - Net Tax \$2,263.00

2025 - Special Assessments \$25.00

2025 - Total Tax & Special Assessments \$2,288.00

Current Tax Due (as of 12/14/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$1,144.00	2025 - 2nd Half Tax	\$1,144.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$1,144.00	2025 - 2nd Half Tax Paid	\$1,144.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

Parcel Details

Property Address: 6086 HWY 73, CHISHOLM MN

School District: 695
Tax Increment District: -

Property/Homesteader: JANCE, SCOTT R

	Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity			
201	1 - Owner Homestead (100.00% total)	\$37,900	\$423,100	\$461,000	\$0	\$0	-			
111	0 - Non Homestead	\$22,700	\$0	\$22,700	\$0	\$0	-			
	Total:	\$60,600	\$423,100	\$483,700	\$0	\$0	4786			





St. Louis County, Minnesota

Date of Report: 12/15/2025 2:27:33 PM

Land Details

Deeded Acres: 26.08 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

	0.00							
	0.00							
s shown are no	ot guaranteed to be s	urvey quality. A	Additional lot	information can be	found at			
ouiscountymn.	gov/webPlatsIframe/f	·	· · ·			ax@stlouiscountymn.gov.		
		•		•	•			
						Style Code & Desc.		
				,	U Quality / 0 Ft ² 2S - 2 STOR			
Ū	•		•	Area				
			•					
	-	-	•					
-	· ·	-	•					
CW	0	8	22	176	POST ON G	ROUND		
	Bedroom Co	unt	Room C	ount	Fireplace Count	HVAC		
ATH	-		-		0	CENTRAL, GAS		
		Improveme	nt 2 Detai	Is (DET GARA	(GE)			
ent Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
AGE	1982	1,00	08	1,008	-	DETACHED		
Segment	Story	Width	Length	Area	Foundation			
BAS	1	28	36	1,008	FLOATING	SLAB		
		Improver	nent 3 De	tails (42X72 P	B)			
ent Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
ILDING	1982	3,02	24	3,024	=	-		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	0	42	72	3,024	POST ON G	ROUND		
		Improver	nent 4 De	tails (39X72 P	B)			
ent Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
ILDING	0	1,36	68	1,368	-	-		
Segment	Story	Width	Length	Area	Foundation			
BAS	0	38	36	1,368	POST ON GROUND			
LT	0	38	36	1,368	POST ON G	ROUND		
Improvement 5 Details (10X20ST)								
ent Type	Year Built	-		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
BUILDING	0	20	0	200	-	-		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	1	10	20	200	POST ON G			
	ent Type ISE Segment BAS CN CN CW Count ATH ent Type AGE Segment BAS ent Type IILDING Segment BAS ent Type IILDING Segment BAS LT ent Type BUILDING	ent Type Year Built Segment Story COUNT Bedroom Co ATH Year Built Segment Story BAS 2 CN 0 CW 0 COUNT Bedroom CO ATH Year Built AGE 1982 Segment Story BAS 1 Ent Type Year Built ILDING 1982 Segment Story BAS 0 Ent Type Year Built ILDING 1982 Segment Story BAS 0 Ent Type Year Built ILDING 0 Segment Story BAS 0 Ent Type Year Built ILDING 0 Segment Story BAS 0 Ent Type Year Built ILDING 0 Segment Story BAS 0 Ent Type Year Built ILDING 0 Segment Story BAS 0 LT 0	s shown are not guaranteed to be survey quality. A pouls countymn.gov/webPlatsIframe/frmPlatStatPop lent Type	Separate	Segment Story Width Length Area	Segment Story Segment Segm		





St. Louis County, Minnesota

Date of Report: 12/15/2025 2:27:33 PM

		Improver	nent 6 Details (3	32x40 hse)					
Improvement Typ	oe Year Buil		•	•	ement Finish	Style (Code & Desc.		
HOUSE	2024	1.2		1,280		- 1S - 1 STORY			
Segme		· · · · · · · · · · · · · · · · · · ·	Width Length Area			ation			
BAS	0	-	_			-			
Bath Count	Bedro	om Count	Room Count	Fireplac	e Count	Н	VAC		
1.0 BATH		-	-	()	C&AC&EXC	H, PROPANE		
		Improve	ment 7 Details (AG 32x32)					
Improvement Typ	pe Year Buil	t Main Flo	oor Ft ² Gross	Area Ft ² Bas	ement Finish	Style (Code & Desc.		
GARAGE	2024	1,0	24 1,	024	-	AT	TACHED		
Segme	ent Sto	ry Width	Length	Area	Founda	ation			
BAS	0	32	32	1,024	-				
		Sales Reported	to the St. Louis	County Audito	r				
Sa	ale Date		Purchase Price		CR	V Number			
C	03/2022 \$130,000 (This is part of a multi parcel sale.)					250584			
		A	ssessment Hist	ory					
	Class				Def Def				
Year	Code (Legend)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	Net Tax Capacity		
	201	\$37,900	\$172,100	\$172,100 \$210,000		\$0	-		
2024 Payable 2025	111	\$22,700	\$0 \$22,700		\$0	\$0	-		
•	Tota	\$60,600	\$172,100	\$232,700	\$0	\$0	2,051.00		
	201	\$37,900	\$157,600	\$195,500	\$0	\$0	-		
2023 Payable 2024	111	\$22,700	\$0	\$22,700	\$0	\$0	-		
·	Tota	\$60,600	\$157,600	\$218,200	\$0	\$0	1,986.00		
	201	\$33,800	\$128,500	\$128,500 \$162,300		\$0	-		
2022 Payable 2023	111	\$18,900	\$0	\$18,900	\$0	\$0	-		
·	Tota	\$52,700	\$128,500	\$181,200	\$0	\$0	1,586.00		
	201	\$31,000	\$120,000	\$151,000	\$0	\$0	-		
2021 Payable 2022	111	\$16,300	\$0	\$16,300	\$0	\$0	-		
.,	Tota	\$47,300	\$120,000	\$120,000 \$167,300		\$0	163.00		
	1	1	Γax Detail Histo	ry					
			Total Tax &						
Tax Year	Тах	Special Assessments	Special Assessments	Taxable Land M\	Taxable Buil / MV		al Taxable MV		
2024	\$2,163.00	\$25.00	\$2,188.00	\$56,792	\$141,76	3	\$198,555		
2023	\$2,115.00	\$25.00	\$2,140.00	\$47,987	\$110,58	0	\$158,567		
2022	\$67.00	\$85.00	\$152.00	\$16,300	\$0		\$16,300		





St. Louis County, Minnesota

Date of Report: 12/15/2025 2:27:33 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.